MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305)375-2901  FAX (305) 372-6339

NOTICE OF ACCEPTANCE (NOA) www.maimidade.gov/buildingcode

Vetter Windows & Doors

South View Drive

Mosinee, WI 54455

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control Division
and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas
where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AH) may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Division that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: “Vetter Impact” Aluminum Clad Outswing Wood French Door - LML

APPROVAL DOCUMENT: Drawing No. 1391, titled “Vetter Impact Aluminum Clad Outswing French
Door”, sheets 1 through 6 of 6, dated 01/25/05, prepared by W.W. Schaefer Engineering & Consulting, P.A.,
signed and sealed by Warren Schaefer, P.E., bearing the Miami-Dade County Product Control Renewal
stamp with the Notice of Acceptance number and expiration date by the Miami-Dade County Product Control
Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 05-0606.08 and consists of this page 1 and evidence pages E-1 and E-2, as well as
approval document mentioned above.

The submitted documentation was reviewed by Manuel Perez, P.E.

NOA No. 08-0130.06

Expiration Date: May 22, 2013
MIAMEDADE COUNTY
APPROVED Approval Date: May 15, 2008

Page 1



Vetter Windows & Doors

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Manufacturer's die drawings and sections.
2. Drawing No. 1391, titled “Vetter Impact Aluminum Clad Outswing French Door”,
sheets 1 through 6 of 6, dated 01/25/05, prepared by W.W. Schaefer Engineering &
Consulting, P.A., signed and sealed by Warren Schaefer, P.E.

B. TESTS
1. Test reports on: 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with marked-up drawings and installation diagram of an outswing French door,
prepared by Twin City Testing Corporation, Test Report No. TCTCW-180-6392.1
dated 5/14/02, signed and sealed by Derrick Swanson, P.E.
(Submitted under previous NOA #03-0109.03)
2. Test reports on: 1) Large Missile Impact Test per FBC, TAS 201-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of an outswing French door,
prepared by Twin City Testing Corporation, Test Report No. TCTCW-80-6392.2
dated 5/14/02, signed and sealed by Derrick Swanson, P.E.
(Submitted under previous NOA #03-0109.03)
3. Test reports on: 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of an outswing French door,
prepared by Twin City Testing Corporation, Test Report No. TCTCW-180-6392.3
dated 5/14/02, signed and sealed by Derrick Swanson, P.E.
(Submitted under previous NOA #03-0109.03)
4. Test reports on: 1) Large Missile Impact Test per FBC, TAS 201-94
2) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of an outswing French door,
prepared by Twin City Testing Corporation, Test Report No. TCTCW-180-6392.4
dated 5/14/02, signed and sealed by Derrick Swanson, P.E.

(Submitted under previous NOA #03-0109.03)
%ﬂuzgﬂiﬂz
Manuel Per .
Z Product Control @r
NOA No. 0 06

Expiration Date: May 22, 2013
Approval Date: May 15, 2008



Vetter Windows & Doors

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

5. Test reports on: 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of an outswing French door,
prepared by Twin City Testing Corporation, Test Report No. TCTCW-180-6394.1
dated 5/21/02, signed and sealed by Derrick Swanson, P.E.
(Submitted under previous NOA #03-0109.03)
6. Test reports on: 1) Large Missile Impact Test per FBC, TAS 201-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of an outswing French door,
prepared by Twin City Testing Corporation, Test Report No. TCTCW-180-6409.1
dated 6/26/02, signed and sealed by Derrick Swanson, P.E.
(Submitted under previous NOA #03-0109.03)

C. CALCULATIONS
1. Anchor verification calculations and structural analysis, complying with FBC-2004,
dated 6/21/05, prepared by W.W. Schaefer Engineering & Consulting, P.A., signed
and sealed by Warren W. Schaefer, P.E. Complies with ASTM E1300-98

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 07-1116.04 issued to E.I. DuPont DeNemours & Co., Inc.
for their “DuPont SentryGlas ® Plus” dated 01/03/08, expiring on 01/14/12.
2. Notice of Acceptance No. 06-0216.06 issued to Solutia Inc. for their “Saflex IIIG
Clear or colored Interlayer” dated 05/04/06, expiring on 05/21/11.

F. STATEMENTS

1. Statement letter of conformance, dated 01/16/08, signed and sealed by Warren
Schaefer, P.E.
2. Statement letter of no financial interest, dated 12/2/02, signed and sealed by Warren
Schaefer, P.E.
G. OTHER

1. Notice of Acceptance No. 05-0606.08, issued to Vetter Doors & Windows for their
“Vetter Impact” Aluminum Clad Outswing Wood French Door — Impact, approved on
08/04/05 and expiring on 05/22/08.

NOA No. 08-0130.06
Expiration Date: May 22, 2013
Approval Date: May 15, 2008



—

DRAWN BY: CHECKED BY:
[=— 73 3/4" MAX. FRAME WIDTH (F.W.) —] e 73 3/4” MAX. FRAME WIDTH (FW.) —| oo
. : =2 /25/
NO. 10 SCREWS (ONE AT EACH HEAD - T
JAMB )CORNER & TWO THRU STRIKE T/SM; C(J: oSRCNREERWS& (TQV,V\I(% ¢IT|REACSHTRII_|KEI?D .'-;‘
PLATE) SEE "FRAME ANCHOR b3
REQUIREMENTS TABLE” ON THIS SHEET GROUP 4 FIN SCREWS AT HEAD PLATE) SEE "FRAME A,NCHOR GROUP 4 FIN SCREWS AT HEAD
FOR OTHER FASTENER REQUIREMENTS. STRIKE LOCATION WITHI[\I AN 8" REQUIREMENTS TABLE” ON THIS SHEET STRIKE LOCATION WITHI’I'\I AN 8" 5
AREA (APPROX. 2 1/2' APART). FOR OTHER FASTENER REQUIREMENTS. AREA (APPROX. 2 1/2" APART).
ﬂ 6" |w— " . z
\ 639 \\ 635 (TYP) A‘ SEE "CORNER ~SEE "CORNER &
—— ; - Y - - —— CONSTRUCTION ..CONSTRUCTION" &
i ﬁ \ i REQUIREMENTS” REQUIREMENTS i
// | W ON SHEET 2. . ON SHEET 2. z
] 7 » Iz NAIL FIN WITH #8 SCREWS jr - :
jﬂ (&)~ \STRIE PLATE | WITHIN 4" OF CORNERS (&)1 30 :
INACTIVE PANEL " INACTIVE_ PANEL \STRIKE PLATE g
LocK v AND AT 8" 0.C. AROUND ~_ LOC/’“
—_ HARDWARE \ // FRAME. GROUP 4 SCREWS — ' / HAFyWARE \
E / N aTivE AT HEAD STRIKE LOCATION. T ) // A acTve
= I / ! PN\ : SEE "FRAME ANCHOR s < : 2/ I PANEL \ '
= 9 ] 25 1/2" A LocK B REQUIREMENTS TABLE” ON =3 ] 51/2" i LOCK i
HARDWARE 5 :m HARDW, m:. 0
S : MAX. ] : THIS SHEET FOR OTHER o . ™ [7 M. ARDWARE NERi x| € .
T < D.L.O. ACTIVE FASTENER REQUIREMENTS. T g D.L.O. 8 8 =0
= . . . Q v
g - 4 &/ g N4 = I \4 ~ &/ ~ T =0 Q
5 _ AL NS \4LAL/ 3] o~
L @ T2\ - r N HANDLE L _ : Z18=s!
, 5 HANDLE - _ L OPPOSITE o & 0" ] OPP. g13z=n
: - \ / " 1 ¢ [ E]125,3
2 ~ = 1|\ R o | £824
w0 11 INACTIVE 36" . #10 S.S. HINGE- © / INACTIVE . . =3 S
\ Y, SCREW INTO BUCK (2 . % elgs=
. s \\ // PER HINGE). SEE 29 6 /// 3|E*"
| STRIKS | | / i "FRAME ANCHOR 2NN BT P i
s < - REQUIREMENTS” TABLE il
: ON THIS SHEET FOR ] N ) o |2
\ OTHER FASTENER \ = g
, e — REQUIREMENTS. = = — zZ E
~ ) ~ o o) NE q ~ =) 2le @
NO. 10 SCREWS OR 3/16" CONCRETE SCREWS INTO SUBSTRATE NO. 10 SCREWS OR 3/16" : = 9'%§p“"
(ONE AT EACH SILL CORNER, 3 AT SILL MIDSPAN & 3 CONCRETE SCREWS INTO SUBSTRATE < %4: 8!2"_
THROUGH STRIKE PLATE) SEE "FRAME ANCHOR REQUIREMENTS (SEERECTANGULAR DOOR ON THIS C:L ot u’gj_.g
(TABLE" ON THIS SHEET FOR OTHER FASTENER REQUIREMENTS SHEET FOR REQUIREMENTS) - Go ”’:é
APPLICABLE WITH BUMPER THRESHOLD. FOR ADA THRESHOLD TION & z g~
CONDITION, SEE "ADA SILL DETAIL" ON SHEET 5). DOUBLE EEE;E%\SRTCE:SE%AOTCS)WWG DOOR E Eg %%g
EXTERIOR ELEVATION - SCALE: 1/27=1'—0" ~ | €280
DOUBLE RECTANGULAR QUTSWING DOOR 2 %’88 581
T PRODUCT RENEWED 5 _.qg30
SCALE: 1/2"=1"-0 2s complying with the flevide (§° 33‘% wg%
Buiding Code = 5 2
NERAL NOT| Aceeptanes Mo 08~ 0130, ¢ o= &
1. ESESE)EDOOR SYSTEMS HAVE BEEN TESTED, ANALYZED AND APPROVED
SIGN PRESSU T " C [
. , PROPERLY DESIGNED z[ =5 9
INSTALLED TO TRANSFER WIND LOADS TO THE STRUCTURE, . FIN_SCREWS POSITIVE NEGATIVE gl & ﬁz
3. ALL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS OPENING TYPE JAMB TO OPENING MINIMUM MINIMUM E e \ B
. 1zchEMADYETT\IOLTS \@R;ngiLFEcsAsngzgcnsFL%Av%hYH»éERrg'T’LONED ON THE DRAWINGS. (SUBSTRATE) FASTENER TYPE EMBED |EDGE DIST. 65 PSF 65 PSF S NN E
. REPRESENT THE PRODUCT ™ ) L e [OQN]Y
FTJE%TESDU R&E PROPOSED FOR WATER, AR, INPACT, CYCLIC & UNIFORM STATICS AR 2X_ WOOD FRAME OR BUCK NO. 8 SMS SCREW 1.3/8 1/2 &| == \\\\\ “Lz
S ESTING IN CONFORMANCE WITH FLORIDA STATE CODE PROTOCOL o = V| z]
; JAS_201, 202 & 203 FOR LARGE MISSILE IMPACT DOORS > SHEAR SCREWS HINGE REQUIREMENTS ob = [ém
. THESE DOOR SYSTEMS HAVE BEEN DESIGNED IN ACCORD g " »
THE FLOND BULONG none: o, ORDANCE WITH 2X_ WOOD FRAME OR BUCK . NO." 10 SMS SCREW 1 1/4" 3/'4- DOOR HEIGHT # HINGES REQ'D g
o S D L e oo CRETe screvs ST B BASERET o ST HLoe TR A SzES : R
: HESE DRAWINGS. (CONCRETE SCREWS SHALL BEITW RAMSET/RED HEAD OR ELCO TAPCONS, HILTI : DRAING NO- | REV-
g?g((::g:(IJED EMBEDMENT TO BASE MATERIAL SHALL BE BEYOND WALL FINISH OR KWIK=CON Il OR POWERS RAWL TAF'PER./ (HARDENED STEEL OR S.S.) 1391
: SHEET NO.
1 o 6

"~



—

NO. 10 SCREWS INTO

PLOT: DATE:
— = == = = MULLION TUBE (ONE 6" 37 5/8" MAX CORNER OF HEAD JAMB) SEE el BT
B i OFF EACH HEAD JAMB ] i (rwy [/  FRAME ANCHOR REQUIREMENTS }
< | CORNER & 4 THROUGH , FRAME WIDTH (F.W.) TABLE ON SE«EETR E1M g‘,\(‘)TRS OTHER <
we 3 PLAT FASTENER REQUI :
U | FIXED TRANSOM WINDOW STRIKE PLATE) TWO #7 X 5/8 SIM. .
€ o SEE DRAWING NO. 1071 OR 1072 FH S.S SCREWS -~ & (TYP. &
Lex SEE MULLION (B )
w5 A =, FOR DETALS.) DETALL ON PLATE INTO JAMB N7 17 /=N CoNSTRUCTION z
Z W7 € 1l THIS SHEET. Lid 1" REQUIREMENTS" g
= "] 2 P > 4 ON SHEET 2. g
e ==L =— S— T #10 FRAME SCREW (2 EACH ‘ | : 8
£ } ; . _ SIDE OF MULLION). SEE |18 5
s | I N o I "FRAME ANCHOR | | st PuATE R 2
T, . 4 | ) ! REQUIREMENTS TABLE” ON | \ // &
o 2 ] SHEET 1 FOR OTHER i -
2 jq / | it e | B FASTENER REQUIRENZATS. z R 2
u = o 251/2" w , LOCK \ _
S 4 MAX. o | ~ “Jw Ti WITH #8 SCREWS S HARDWARE A
: e =5 |k B
X o | D.LO. | WITHIN 4" OF CORNERS 5 - 1N ,
= 95 | \ [ﬁ}_ AND AT 8" 0.C. AROUND SN | - .
- 5 o N FRAME. GROUP 4 SCREWs X (G T™ . e | € o
L o N g N I Y\ AT HEAD STRIKE LOCATION. £ = @ T2 &8z,
DI AN o < ACTIVE 1 I \EAD SEE "FRAME ANCHOR £ o _ /;gm VMl N\eAL/ a | 25%g
= X INACTIVE >~ - OPPOSITE REQUIREMENTS TABLE” ON R I | DY, , / k - z|2=38
5 & | m; THIS SHEET FOR OTHER < _ 25 1/2 T PRODUCT RENEWED zZ|le<s
W FASTENER REQUIREMENTS. = ~  MAX. - #10 S.S. HINGE &5 complying with the Floridz i R
- | 0 | D.LO. SCREW INTO BUCK (2 S Sud
o || S s e LN A e g |25
= STRIKE 36"// RS 0 | REQUIREMENTS" TABLE 5| &8s
I STRKS W: PER HINGE). SEE I ﬂi' 51E¢S
~ ] i ! [ ON THIS SHEET FOR
I 2 1- N M ANCHOR | STRIKE OTHER FASTENER ° >
= : : REQUIREMENTS” TABLE - @ ' a |2
ON THIS SHEET FOR 1/ PLATE REQUIREMENTS. 3k
; =g ; OTHER FASTENER ; : |— S E
N REQUIREMENTS. — 6" (TYP.) ’ S g
g z
NO. 10 SCREWS OR 3/16 q 4 ] o sussrrare ™% z ~
CONCRETE SCREWS INTO SUBSTRATE NO. 10 SCREWS OR 3/16" CONCRETE SCREWS INTO SUBS ’ 2| ., 3
(SEE RECTANGULAR DOOR ON (ONE THROUGH STRIKE PLATE & ONE AT EACH SILL CORNER) . 2|2 3
SHEET 1 FOR REQUIREMENTS) SEE "FRAME ANCHOR REQUIREMENTS TABLE” ON SHEET 1 FOR L
. < SRt
DOUBLE OQUTSWING DOOR WITH TRANSOM TS S TN Yy 2" X 5" x 1/8" | G g3
SCALE: 1/2"=1'~0" SINGLE_OUTSWING DOOR TUBE MULLION (MIN. & | 258
; . 1/2"=1"-0" ~T5 ALUMINUM W S8
(FOR ALL DOOR DETAILS NOT SHOWN, SEE SCALE: 1/2'=1"-0 6063-T5 ALUMINUM) B | k358
RECTANGULAR DOOR ELEVATION ON SHEET 1.) | A7 | " <2538
= 205 gm |
= Em oz%
- o
#7 X 3/4" PH i | MR EE z
MS (4 PER -
CORNER_CONSTRUCTION: (S;L,p)( \ N | L
n a
RECTANGULAR DOOR WOOD JAMB: HEAD CORNERS WERE DADO CUT & FASTENED WITH WOOD GLUE & 3 #8 X 2 1/2" DRYWALL A | | o
SCREWS. SILL FRAME CORNERS WERE DADO CUT, SEALED WITH A GASKET & SILICONE ON N — z &3
THE INTERIOR, & SECURED WITH 3 #8 X 2 1/2" DRYWALL SCREWS PER CORNER. * MIN. 2X4 P.T. WOoOD [lE 23
ROW DOOR WOOD JAMB: HEAD CORNERS WERE MITER CUT & FASTENED WITH WOOD GLUE & A BISCUIT. / " BUCK BY OTHERS 0 Rg
SILL: DADO CUT, SEALED WITH A GASKET ON THE INTERIOR, SEALED WITH SILICONE & SECURED MULLION END CLIP «] E o)
WITH 3 #8 X 2 1/2" DRYWALL SCREWS SCREWS PER CORNER. 20 GA. (0.034") X 11 oa X 1 12" S g
JAMB CLAD: MITER CUT AND SECURED WITH 1 NO. 6 X 1" SMS PER CORNER. 15" X MN. 55" ‘ ROEING NAL (2 PER g
STILE/RAIL: PANEL CORNERS WERE SQUARE CUT, SECURED WITH 3/4” X 3" WOOD DOWELS (2 LONG (MIN. 33 KSI CLIP)
PER TOP CORNER & 4 PER BOTTOM CORNER) AND WOOD GLUE. GALVANIZED STEEL) MULLION END CLIP DETAIL [~ DRAWING NO. JREV.
TILE/RA ; SQUARE CUT, SLIP-FIT & SEALED WITH SILICONE. 1391
SHEET NO.
2 o 6

NO. 10 SCREWS (ONE AT EACH

ORAWN 8Y:
STR.

CHECKED 8Y:
W.W.S,




-

JIDRAWN BY:  |CHECKED BY:
S.TR. W.W.S.
NAIL FIN SCREW PER FRAME CORNER SCREW NAIL FIN SCREW PER STRIKE SCREW INTO POae ™ 2s/08
ELEVATIONS PER ELEVATIONS (MAY BE ELEVATIONS ) SUBSTRATE (REF. )
SRS POSITIONED AT THIN OR o T ELEVATIONS) ;
R e T THICK SECTION OF JA e B e °
SEALANT BY A= SECTION OF JAMB) SEALANT BY , a L)
THER 5
OTHERS — MIN. 2X4 P.T. OTHERS L—MIN. 2X4 P.T. ) i
WoOD BUCK . 1/4" MAX. | woop BUCK 1/4" MAX.
BY OTHERS SPACE BY OTHERS SPACE 8
g
NoNG ;
2
—® —® 1L
o a o
Q O« 9
— SEE GLAZING —_ r| 82583
N \/ DETAILS ON r TN N SEE, GLAZING S IR
/ N\ SHEET 5. / N\ DETAILS ON gl 2z=
/ NN / N |\ SHEET 5. E|25u®
' \\\ \ I ‘\\ (ZD ; 82,})
\. / ~_ \ ~ £ | xodr
\ / T \ / T o | Bg=
N / S AN / = 3 E -
~ - ~ i x>
- = —— = ]
I I a 4
o o 35
L T o 5
EXTERIOR E EXTERIOR = z 2
= = =z Iz
<C < =
& Z " & 2o 3
Vi “ 2 é m"’uT')
7 p — | & 8gR
///// //// ? %( :2,‘.
V4 7 a w=a = Il‘?)
| SILL CORNER SCREW PER @9 _—SILL MiDSPAN SCREWS e | WS w4t
N ELEVATIONS. (MAY _BE T — PR ELEVATIONS (3 TOTAL E| 855
A POSITIONED IN WOOD OR N 12 AT MIDSPAN OF SILL) Wl 5243
VINYL AREA OF SILL) \ 44)45 <2 Egé
O zun
= L0 <m
— SILICONE L SILICONE B ELis-
/ BACKBEDDING BACKBEDDING - 2 Sz 83,
- PRODUCY RENEWED z. F
. @ a5 pomniving with (ke Flovids g o= g
4 : L0C y
2] . «
zZl ® i
E “;K\ g3
S N\ 83
e c»&s\s\}\\\ "=
Tl s N \ Suiih
8 & N \z
SUBSTRATE BY = 18
v v <<
SUBSTRATE BY OTHERS s
OTHERS STRIKE FASTENER T
SECTION 2 (REF. ELEVATIONS) SECTION B 1391
SCALE: 1/2 FULL\ 3/ SCALE: 1/2 FULL\ 3/ SHEET NO.
J o 6

~



1

NAIL FIN SCREW .
PER ELEVATIONS \
HINGE SCREW X

INTO BUCK (2

PER HINGE PER <

ELEVATION)

SEALANT BEHIND R
FIN BY OTHERS ]

1/4" MAX. __|

MIN. 2X4—
PT. woo“
BUCK BY

OTHERS - &

NAIL FIN SCREW
PER ELEVATIONS

HINGE SCREW TN
INTO BUCK (2
PER HINGE PER

4

SEALANT BEHIND s

ELEVATION)

FIN BY OTHERS ,_

CUT OFF
FLUSH WITH
BACK OF JAMB.

/4" MAX. __|

MIN. 2X4 PT.—
WOOD BUCK —\
BY OTHERS b

e

SHIM

N

OTHERS

SHIM

SEE GLAZING
DETAILS ON
SHEET 5.

SEALANT BY

N

SECTION e\

SCALE: 1/2 FULL\ 4/
ADJUSTABLE HINGE STILE

FRAME WIDTH (F.W.)

SEE GLAZING
DETAILS ON
SHEET .

3y

SEALANT BY

OTHERS

SECTION &\

SCALE: 1/2 FULL\ 4/

BUTT HINGE STILE

FRAME WIDTH (F.W.)

DRAWN BY:
S.TR.

CHECKED BY:
WW.S.

—

(4) N
~——
SECTION
SCALE: 1/2 FULL\ 4/
1/47 MAX. __| FRAME WIDTH (F.W.)
SHIM
MIN. 2X4 P.T.—_
WOOD BUCK
BY OTHERS

S
v

l-

NAIL FIN SCREW
PER ELEVAT!ONS\
9

o

.9

SEALANT BEHIND 2
FIN BY OTHERS

N

SEALANT BY
OTHERS

)
=/
/\SEE GLAZING

DETAILS ON
SHEET 5.

PRODUCT RENEWED

SEE GLAZING
DETAIL ON THIS
SHEET.

PLOT:
1=24

DATE:
1/25/05

DATE

By

REVISION DESCRIPTION

NO.

MANUFACTURER

VETTER WINDOWS & DOORS

1000 SOUTHVIEW DRIVE
MOSINEE, Wl 54455
715-693-7000

VETTER IMPACT ALUMINUM CLAD OUTSWING FRENCH DOOR

"

(4] &

4 b

o aomnwo

o 38R

Ll N7

Zoie 3

% =T

UY ;ud

m_Z_ =5

xo

L 5gs

LD wéQ

W &1

<z Ea-n

ey w50 23R

= 290 ol

zWn o

< o398

SPRE - B-F

Z oS Caoyy

= ‘2 g

2 EE z
z
Q
=
<
Q
@
=
o
ul
LS

SECTION £
SCALE: 1/2 FULL\ 4/ e
1391
SHEET NQ.
4 o 6

|



—

DRAWN BY: CHE(:KEDS BY:
S.TR. W.WwS.
#10 SMS FRAME SCREW PO e [P ass0s
PER WINDOW ARRPOVAL
NOTE TO_INSTALLER: (AS MINIMUM, PLACE ¥
THE DOORS MAY BE SHIPPED WITHIN 6” OF CORNERS S e
WITH THESE 2 SCREWS AS ‘ & 12" MAX. O.C. (46 =
#7 X 5/8" SMS. THEY ARE = %
TO BE REPLACED WITH THE w oy e » e
#10 SMS SPECIFIED.— SRR 2" X 5" X 1/8 v 5 .
TUBE MULLION (MIN. 56 Ty &
n 6063-T5 ALUMINUM) . v N &
— - | 2
_| ] g IJ JETE @ é’é_ 2
g |_—#10 SMS SCREW (4 (3239 L %
g AT STRIKE PLATE & = g
ONE 6" OFF EACH 31 (HU SRS _
FRAME CORNER). NO. 10 SMS INTO WOOD ¥ ] g
CORNER SCREWS MAY OR 3/16” CONCRETE NO. 10 SMS INTO WOOD
S BE AT THIN OR THICK SCREW INTO CONCRETE OR 3/16" CONCRETE
SECTION OF JAMB. (REF. "FRAME ANCHOR SCREW INTO CONCRETE
REQUIREMENTS TABLE” (REF. "FRAME ANCHOR
ON SHEET 1 FOR OTHE)R REQUIREMENTS TABLE” « | &
ANCHOR REQUIREMENTS). ON SHEET 1 FOR OTHER x]1oy
2 ANCHORS PER STRKE gLl OBt ANGHOR REGURENENTS) 2| 8&8,
WHEN INTO CONCRETE; 4 . I
PER STRIKE WHEN INTO DOUBLE DOOR CONDITION. AT SINGLE ~ ONE 6" FROM EACH END z| =52
SECTION /7 WOOD DOORS, ONLY 3 SILL SCREWS ARE OF SILL AND 2 AT SILL zless
SCALE. 172 FULL\5) ‘ REQUIRED (6" FOR SILL ENDS AND AT MIDSPAN SPACED 6 €| QE .3
1/ SILL MIDSPAN). STRIKE SCREWS' ONLY  APART. ol 2 8“% I
NEED TO PENETRATE THRESHOLD AT z| = NEL
SINGLE DOOR. . =1 &8
5|1E°
o S>
aQ [
2
3 |2
z |z
=
GE SILGLAZE g n
" HC—CLEAR . L " S| o g
GE 4000 ULTRA —| ~—7/16 L GE SILL GLAZE — 7/16 DOW 899 SILICONE 2 2 o
GLAZE (BLACK) 1.1/2” FINISH HC SILICONE 1.1/2" FINISH S| W< RER
NAILS 2" FROM NAILS 2" FROM af Zade s
4 CORNERS & 4 CORNERS & =| 2. ey
» ) wo ..dqd
12" 0.C. 12" 0.C. G| 255
] " 7 45 gy
7/16" MIN. aiTe J // \@ 7/16" MIN. aite | /// \@ E Q_aJ Yo%
Zz 55¢e
EXTERIOR ({ "~ DEER EXTERIOR < ~ EEE 2 |88 380
— b4 O:u@)
PRODUCT RENEWED e |2x®8E,
GLAZING DETAIL #1 GLAZING DETAIL #2 25 complying with the Flovide = |27 z
whd C@ﬂ% ~8.0120, 06 5 o= g
OPTION #1: 7/16" THICK DUPONT SGP LAMINATED GLASS OPTION #1: 7/16" THICK DUPONT SGP LAMINATED GLASS e;m;@mg; N L0138 .
(3/16" ANNEALED/.090" SGP/3/16" ANNEALED) (3/16" ANNEALED/.090" SGP/3/16" ANNEALED) ' . w
OPTION #2: 7/16" SOLUTIA SAFLEX LAMINATED GLASS (3/16" OPTION #2: 7/16" SOLUTIA SAFLEX LAMINATED GLASS (3/16" - f\? 229
ANNEALED/0.090 SAFLEX PVB/3/16" ANNEALED) ANNEALED,/0.090 SAFLEX PVB/3/16” ANNEALED) of N\ e
5 W "\_:’-i
AN N3
E! %:\\ o_ B
T v
Q‘é:ﬂéﬂ%ﬁ $
MDY 22,7008 )
) ) 15 ‘f_,, / ““DRAWING NO. |REV.
.ﬁ y ‘ SHEET NO
9 o 6




—

. 1679 1622 — BILL OF MATERIALS [orav v~ Jeecren o
_ T T TEM ﬂ PART # | ITEM DESCRIPTION | MANUFACTURER /NOTES [Fom: oA 25 /05
N N T IJ —0.616 PARTS
1 08-0006-C2403__ |RECTANGULAR DOOR JAMB * WESTERN PINE p
1.250 ;\ 2 12-1465-02 ADA DOUBLE DOOR STRIKE PLATE(0.06" X 1.752" X 4.657) | 304 SS. S
‘ 3 12-0211-W2596__|ADA SINGLE DOOR STRIKE PLATE(1” X_3.028" X 0.06) 304 S
4 08-0072-W2427 _|TOP RAIL * WESTERN PINE =
@ HEAD & SIDE JAMB 5| 08-0071-w2427 | BOTTOM RAL * WESTERN_PINE
6 08—0087-C2437 | HINGE & INACTIVE LOCK STILE * WESTERN PINE
4.500 8 08-0088-C2437 _ |ACTIVE PANEL LOCK STILE * WESTERN PINE Z
| 1 08—1460-02 INTERIOR ASTRAGAL * WESTERN PINE £
| 4.762 12 08-0005-W2402 | THRESHOLD 0AK §
13 02-V5128 THRESHOLD VINYL 2
14 04-0050-W1802 | ADA APPROVED THRESHOLD 6063-15_ ALUMINUM 2
15 0B—0002-W2402__|SILL BASE * WESTERN_PINE 2
1.719 16 08-0004-W2402__|SILL FILLER BLOCK * WESTERN PINE 3
17 0B—2104-C2557 | FLUSH GLAZE BEAD * WESTERN PINE
7 e 9.500 18 05-A5627 ASTRAGAL BASE 6063-T5 ALUMINUM
@ TOP RAIL : 19 04-0009—W2402__ | OUTSWING SILL NOSE 6063-T5 ALUMINUM
1UF RAIL 20 04-0056—C2427 _ |TOP_RAIL COVER 6063-T4 OR 15 ALUMINUM
2 04-0015-C2022__ | BOTTOM RAIL COVER 6063-T5 ALUMINUM
HINGE & INACTIVE 4762 | 0.100 —] | 10.000 22 | 04-0016-C2033__|STILE COVER 6063-T5 ALUMINUM
PANEL STILE : | : 23 04—A5629 ASTRAGAL COVER 6063—T5 ALUMINUM
- 24 08-W8075 ASTRAGAL SCREW CAP WESTERN PINE @
25 04-A5617 THIN_FIN_TRIM 6063-T5 ALUMINUM x|l oy
26 02-1512-02 BOTTOM SWEEP VINYL ol 8z48
— 1.750 — 1.719 27 12-1580-02 SINGLE_DOOR TOP_BOLT STRIKE PLATE .12" X 0.80° X 2.853" | 304 S.5. a 2x8
28 12-1463-02 SINGLE_DOOR SILL BOLT STRIKE PLATE .12" X 80" X 2.853"_|304 S.S. z ¥ =50
_J . ? 29 12-1464-02 DOUBLE DOOR SILL STRIKE PLATE 125" X 2817 X 400" | 304 SS. z1 e Ll
30 12-1465-02 DOUBLE DOOR HEAD STRIKE PLATE .060° X 1.762° X 5.634° | 304 S.S. o B
LOCK STILE 31 12-1557-02 HEAD JAMB_BACKER PLATE 4.500° X 10.125" 080" STAINLESS STEEL L] 2sye
A 32 04—A1621 MULL COVER 6063—T5_ ALUMINUM ol £ 326
2.750 2438 — = 33 12-1291-02 PANEL CORNER REINFORCEMENT BAR .12" X 1.00” X_10.10" |1 PER PANEL CORNER § e od=
' : 1.961 . 34 12-0017-W2471 | GROMMET (PLACED BELOW ADA SILL STRIKE)- PVC . nhlh38
1| [V 35 12-1286-02 SINGLE DOOR STILE LOCK STRIKE 118" X_1.320° X 9.331"__ | 304 STAINLESS STEEL 5 E =
K”/ f BOTTOM RAIL 36 12-1607-02 DOUBLE DOOR STILE LOCK STRIKE 116" X 1.314" X 11.575"_| 304 STAINLESS STEEL °1 >
0588 1330 @ HARDWARE a |
: - ‘ 37 12-0001-W2477 _ [ADJUSTABLE HINGE (PLATED STEEL OR S.S.) VARIANT HEAVY DUTY OR MILLENUM STANDARD || 3 |2
INTERIOR @ OAK THRESHOLD | ) 38 12-1594-02___|4" X 4" BUTT HINGE (PLATED STEEL OR S.5) HAGER 1191 .
WL 39 12-1601-02 10 MM_SHOOT BOLT GUIDE NYLON 6, 30% GLASS FIBER =N E
A IRALAL @ VINYL THRESHOLD BOTTOM RAIL [0 Z HANDLE AS REQUIRED TO OPERATE DOOR LOCKS FRE
6.531 | - COVER 41 = 2-POINT_INACTIVE_PANEL LOCK_ASSY. W/ 3/8" DIA. END RODS|HOPPE NORTH AMERICA HLS SERIES 3 -
I | 42 - 5_POINT_ACTIVE PANEL LOCK ASSY. W/ 3/8" DIA. END RODS | HOPPE_NORTH AMERICA HLS 9000 SERES || 3 | o o
—— e — t——‘ 4.313 }_— 2.786 —* SEALS & SEALANTS < s I
0.500 W L_J L 43 12-0030-V0166 _ |HEAD & SIDE TFT WEATHERSTRIP POLYPROPYLENE S1 &5 328
_r_ 0.110 f 44 12-0005-P2262  |INTEK ARLOC WEATHERSTRIP VINYL = §<§ :R J
. ADA THRESHOLD | 393 12-1602-02 | AMESBURY WEATHERSTRIP VINYL = | 5oe.8
0.719 . FASTENERS Z 0%
S|LL SILL BASE ‘ 46 - 8 X 1 1/4" FH WOOD SCREWS [4 PER CORNER REINFORCEMENT PLATE G w2 ags
47 = 48 X 1 _1/2" FH_SMS_SCREWS [2 PER DBL./1_PER SINGLE DOOR SILL STRIKE PLATE E EE Z8y
t-o .500 3.348 SILL FILLER 48 - 48 X 11 {4 FH _WOOD SCREWS 4 PER ADJUSTABLE HINGE INTQ STILE > ba Qé?
0.126 = 49 - #7 X 578" FH SMS 2 PER ADA SILL STRIKE PLATE LD &z )
0. 625 1 442 T BLOCK 50 = #7 X 5/8" FH WOOD SCREWS 2 PER HEAD STRIKE PLATE u o .55 235
0.075 51 = {8 X 1 _1/4" FH WOOD SCREWS 10" FROM_ALUM. ASTRAGAL ENDS & 8’ 0ClE |2 @@ 905
1. 424 52 = #8 X 3 1/2° FH WOOD SCREWS 2" FROM INT. ASTRAGAL ENDS & 6” 0C. o |5 . 83
0.500 - » " w Z = - ©a g
@ GLAZE BEAD 1 650 53 #8 X 2" FH DRYWALL SCREWS 1 1/2" & 2 1/2" FROM PANEL ENDS = 2 4
- 54 - #7 X 5/8" FH_WOOD SCREWS 8 PER HEAD JAMB BACKER PLATE E 5= z
ASTRAGAL BASE j— 55 - 48 X 5/8" Frl WOOD SCREWS 7 PER ADJUSTABLE HINGE INTO JAMB :
- SILL_NOSE 0.279 56 - #7 X 5/8 FH WOOD SCREWS 3 PER LOCK STRIKE u
_ | 57 Z §12 X 1 _1/4" FH _WOOD_SCREWS 4 PER BUTT HINGE INTO STILE a
“—\\\fr 0616 3 Lo 050 ASTRAGAL SCREW CAP [ss = #12 X 1_1/4"_FH WOOD SCREWS 2 PER BUTT HINGE INTO JAMB S o
: __ 59 = 3/16" X _1/2° STAPLES 3" FROM_CORNERS & MAX. 20" 0.C. 5 e
= L<
5.000 _"_‘I "%‘ 0.045 * WOOD USED WITH TEST UNITS WAS SELECT WESTERN PINE. ALTERNATE WOOD SPECIES TO BE APPLICABLE WITH [|& s
TOP RAIL COVER T —|~ 0030 THESE WINDOWS IS MIN. SELECT MAHOGANY, SOUTHERN PINE, OAK, CHERRY, MAPLE, DOUGLAS FIR & CYPRUS. = @
1.750 —j 1.197 [~ 0.416 2.141 , R PRODUCT RENEWED) i ég
0,050 T% — 0.634 l Sﬁm ‘0ﬁ7 "1 ‘ 0.592 (§ E 0.055 2? %
[~ Y- T i B3
F ASTRAGAL 2.912 ———-—l ] l I 0.070 _f f 2 303 DRAWING NO. REV.
| 5214 COVER 0.790 ' | 5 1391
() STLE_COVER (25) THIN FIN TRIM (26) DOOR_SWEEP (52 MULL COVER pienfTst ‘“mm‘“" i
R e eSe———— ————————————— ATy OF

~ |



